FR29F12AFEAS BREMRR

RE EEFBHEAERIETHRENES
B & 4 % & 1E H BmE#®E
TRAHE fREHMmMEXZEE 0157 b= 1
TP () fREHMEXEZEE 0157 = %
BReTDY fAE Mt XBE 0157 b= 1%
FIAITRL frE Mt KEZE 0157 = %
NAYBYDHA R fREHmMEXBZEE 0157 = %
IMNMADBE e MM REZE 0157 = %
Y]t -1 frEtm4EXEBE 0157 = 1
BmOMEA fREHMmMEKRBZEE 0157 = %
=AZAIZRL fREHMmMEXERE 0157 = %
|50 frE M KREEE 0157 = %
BHE fREHMmMEXBZEE 0157 b= 1
BH#&E (5) fREHmMEXZEE 0157 b= %
V=R (UFA1K) frEHmEXREBE 0157 = 1
YILI—H1 (6g) frE Mt KEZE 0157 = %
YIRI—H1)(8g) fREHMmMEXEBE 0157 = %
DEZAIZRL fE M REZE 0157 = %
EWHRER(OEE) fAE Mt XBE 0157 b= 1%
BREENSOYL(ToILE ) fREHMmMEKRBZEE 0157 = %
2E fREHMmMEXZEE 0157 = %
EAITHF—X (H#Y]) fAE M XBE 0157 = 1
AFL fREHMmMEXZEE 0157 b= 1
AFL 3 fREHMmMEXEZEE 0157 = %




FR29F12AFEAS BREMRR

RE EEFBHEAERIETHRENES
B & 4 % & B H BmE#®E
LY AIZeL fREHMmMEXEBE 0157 b= %
DYDME fREHMmEXBE 0157 = %
\3—(H1§)450¢g fAE Mt XBE 0157 b= 1%
—HO&AEX fmE M XBE 0157 = 1
EX fREHMmMEXEBE 0157 = %
SYUDTF(IDE) e MM REZE 0157 = %
AUMIT (DY) fAE Mt XBE 0157 b= 1%
SUDITF (REZF) fREHMmMEKRBZEE 0157 = 1
SYMTF (FYABE) fREHMmMEXZEE 0157 = %
MAF—X fAE M XBE 0157 = 1
BX fREHMmMEXBZEE 0157 b= 1
BHE fREHMmEXBE 0157 = %
TIAR—XRARL YLV (UFA1K) frEtm4EXEBE 0157 = 1
<IAR—XEAFLYI LT GREA) fAE M XBE 0157 = 1
TYHYRD N L fREHMmMEXEBE 0157 = %
BMFEIXD fREHMEXBZEE 0157 b= %
HH<h fAE Mt XBE 0157 b= 1%
HH<H ERTIY) fREHMmMEKRBZEE 0157 = %
I—TILMERAAY) BT fREHMmMEXZEE 0157 = %
I—JILGRER) frEHMmEXBE 0157 = %
ABIINL—YE)— (L &EHA)60g fREHmMEXBE 0157 b= %
ABIZIL—YE)—(FLP)60g fE MM RIZE 0157 (SN




FR29F12AFEAS BREMRR

BRE BEEHBHEASHRETHRERE
B & % B & EH BE#®E
ABIZIL—YE)—(BEHDA) fREHMmMEXZEE 0157 b= 1
mEHL(HIE-T1L)30g fmE M XBE 0157 = %
mRBHLIFAA(50g) frEtm4EXEBE 0157 = 1
MREREIT (D) (BEXS) fmE M XBE 0157 = %
MRREIT D) AHIT fREHmMEXBZEE 0157 = %
MEEEIT (D) iET fREHMEXZEE 0157 b= 4
HEEBT (D) BEEIT fAE Mt XBE 0157 b= 1%
MRHIHZVN g MM XZE 0157 = %
RENNTYyE— fREHMmMEXERE 0157 = %
BREVDHLILKRRS frEHMmEXBE 0157 b= 4
REIAFT—(HBUZE) fREHMmMEXBZEE 0157 b= 1
MRITHIT fmE M XBE 0157 b= %
RESITHITF (Hvh) fAE Mt XBE 0157 b= %
MEIEA frEHMmEXRBE 0157 = %
b g B30 fREHMmMEXBZEE 0157 = %
BRERUVHY frEHMEXBE 0157 = %
MEEMND fAE Mt XBE 0157 b= 1%
MENEFELEIL g MM XZE 0157 = %
AENNVDSIEIT fREHMmMEXERE 0157 = %
MEZELOA fAE M XBE 0157 = 1
mEFRA fREHMmMEXZEE 0157 b= 1
mR¥I—Y fREHMmEXBE 0157 = %




FR29F12AFEAS BREMRR

BRE BEEHBHEASHRETHRERE
B & A % & B H BmE®RE
METLD fREHMmMEXZEE 0157 b= 1
ARV (DD -#MT) fREHMEXEZEE 0157 =
MEEDMD fAE Mt XBE 0157 b= 1%
R fmE M XBE 0157 = 1
BET)—VE—XR fREHMmMEXEBE 0157 = %
ARIEA (R F5g) fREHMEXZEE 0157 b= 4
RN (R 8ghvh) fAE Mt XBE 0157 b= 1%
ARIEBA (R FHH10g) fREHMmMEKRBZEE 0157 = 1
MEBRN(BRAHE152) fREHMmMEXZEE 0157 =
MRIBA (R FHH40g) fAE M XBE 0157 = 1
MEBRN(BEAFbE5ehvh) fREHMmMEXBZEE 0157 b= 1
RIS (R7EL3g) fREHmMEXZEE 0157 b= %
AEBRN(RZLLLIEA)3mm fAE Mt XBE 0157 b= %
AEAOYT GRTH) frEHMmEXRBE 0157 = %
R (H18) 30g fREHMmMEXBZEE 0157 = %
PREE (HIB)40g frEHMEXBE 0157 = %
ARSI (HiE-AY) fAE Mt XBE 0157 b= 1%
BESDFEVLECL g MM XZE 0157 = %
MRSEND frE MM RIZE 0157 = %
ARSI (HIE-AY) fAE M XBE 0157 = 1
MESIE(R)40g fREHMmMEXZEE 0157 b= 1
AEEIE (B 40g fREHMmMEXEZEE 0157 = %
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BRE BEEHBHEASHRETHRERE
B & A % & B H BmE®RE
ARSI (G- A fREHMmMEXZEE 0157 b= 1
MESHL (HIE) 30g fREHMEXEZEE 0157 = %
mESHL (HIE) 40¢g fAE Mt XBE 0157 b= 1%
BRISAE(HIE-T4L)20g frE Mt KEZE 0157 = %
AELLeY fREHMmMEXEBE 0157 = %
R 1—A frEHMEXBE 0157 = %
BEINT —A—ar (k) frEtm4EXEBE 0157 = 1
MEEMADER fREHMmMEKRBZEE 0157 = %
MRBHATF1(50g) fREHMmMEXERE 0157 = %
MRAINT T4 frEHMmEXBE 0157 = %
MEVT— =AY fREHMmMEXBZEE 0157 b= 1
MRERBESL fREHmMEXZEE 0157 b= %
MEZLEEI(30g) fAE Mt XBE 0157 b= %
AL (HiE-FAY) fAE M XBE 0157 = 1
mE=D (Y- 941 fREHMmMEXBZEE 0157 = %
MRFXUF TV (20g) frEHMEXBE 0157 = %
BEFXININ=T fAE Mt XBE 0157 b= 1%
ARFFUR—IL g MM XZE 0157 = %
ARPEE fREHMmMEXERE 0157 = %
AR EERE (K) fAE M XBE 0157 = 1
MEERE fREHMmMEXZEE 0157 b= 1
MRRE(EEXRE) fREHMmMEXEZEE 0157 = %
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BRE BEEHBHEASHRETHRERE
B & % B & EH BE#®E
MEERE(K) fREHMmMEXZEE 0157 b= 1
AEESBAILETL fREHMEXEZEE 0157 = %
NEBILEIT fAE Mt XBE 0157 b= 1%
ARME frEHMmEXRBE 0157 = %
AEBRN(A—X)3mm fREHMmMEXEBE 0157 = %
AEBEREDD fREHMEXZEE 0157 b= 4
AEBREDS (GEm) fAE Mt XBE 0157 b= 1%
AEBEEDE (RA) fREHMmMEKRBZEE 0157 = %
BEIZUITIVE(Fvh) fREHMmMEXERE 0157 = %
AER—OY (hyh) frE M KREEE 0157 = %
AEA—IY (HFNK) fREHMmMEXBZEE 0157 b= 1
AEIFIES fREHmMEXZEE 0157 b= %
AERILRINL (BYR) fAE Mt XBE 0157 b= %
MEUERE fAE M XBE 0157 = 1




